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Find the slope of each line.

A. the line containing (6, —2) and B. the line containing (8, —3) and
(-3,-5) (—6,-2)
C. the line containing (4,2) and D. the line containing (—3, 3) and

(4,-3) (4.3)
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Classifying Slopes

Draw the slope that is described by each set of words.

Negative Slope Zero Slope Positive Slope Undefined Slope





image7.png
In 2000, the annual sales for one manufacturer of camping equipment was
$48.9 million. In 2005, the total sales were $85.9 million.

If sales increase at the same rate, what will be the total sales in 2015?
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In 2006, 500 million songs were legally downloaded from the Internet. In 2004,
200 million songs were legally downloaded.

Graph the line that models the number of songs legally downloaded y as a function

of time x in years. Then find the slope of the line and interpret its meaning. If this
trend continues at the same rate, how many songs will be legally downloaded in
20152 I%;
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Determine whether FG and ‘I-_U’are parallel, perpendicular, or neither for
F(1,-3),G(-2,—-1), H(5, 0),and J(6, 3). Graph each line to verify your answer.

Y

Step | Find the slope of each line.

Step 2 Determine the relationship, if X
any, between the lines.
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Graph the line that contains Q(5, I) and is parallel to MN with M(-2,4) and
N(2, 1).
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Graph the line that contains P(0, 1) and is perpendicular to ‘Q_R>with
Q(—6,-2) and R(0, -6).
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Find the Error

Terrell and Hale calculated the slope of the line passing through the points
Q(3,5) and R(=2,2). Is either of them correct? Explain your reasoning.
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Vocabulary

slope n. for a (nonvertical) line
containing two points (x,,y,) and
(%2, ¥,), the number m given by

the formula:
Y, Y,

m=-"2—1
XX

where x, # x,

rate of change n. describes
how a quantity is changing over
time
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Slope of a Line

In a coordinate plane, the slope of a line is the ratio of the change
along the to the change along the between any
two points on the line.
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The slope m of a line containing L L]
two points with coordinates (x,,y,) - (x, p9) ;':i il
and (x,, y,) is given by the formula: LT " i
[ un: X, — X
-t I -
m=———, where x #X,. o X
L





image3.png
Find the slope of each line.
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Find the slope of each line.
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